RATH XL =EE

fEmfARE 1

&h = Bfi X5 FERNE ™)
EES 18 13 690
Gl 18 1 250
=AM 18 13 250
Wy 1R 13 120
BIES 1% 13 250
e 18 13 120
TS LREVR 18 13 120
REWR 1% 13 6,350
WP 1% 13 1,150
WERIE! 1% 13 1,150
K=l (OIS EN 1 1[5] 1,150
gomleE | FES 1% =] 5,770
5 1% 13 250
HEHE ER 148 13 120
REARE 1% 1] 120
Eth 18 13 120
B 18 13 120
T 15 13 690
A& 1% 13 370
95V RET/ 18 13 4,040
AT L 13 120
8y 1 13 1,150
ILEEE 1% 13 2,880
OvFoHA4oakRy 1K 13 1,260
BAFZIYIA70KY 12 10g] 840
DAVYLARAY 12 1[g] 2,310
ILAR—L2—T (% E 1% 13 570
ZRARYURAIVEE 1% 13 570
)L htybr—7La—4— 18 13 1,150
TIORIWF—Ta4AT—TLaA—4— 18 13 1,150
EZFqRAULO—4— 18 18] 1,150
Lad—F7L—%— 18 13 1,150
AVINI N TA R TL—F— 18 18] 1,150
ATF—IAE—hH— 18 1] 570
R—2IT)IVZFH— 18 13 500
IAVRZVR 1K 13 120
" 161 BRE 1 1% 13 920

s (EBI0DICDERY)—VEEE,)
A9)—> 1% 13 1,500




RATH XL S8R

(EmfARE 2

oh = B X5 FMARE (M)
AN RN 151 1[5] 1,030
R—E2—31F 151 1[5] 1,030
UM SRS 151 1[=] 1,030
A7—RIUVV Ak 12 10g] 250
AR TSA 1 1[=] 250
ARy ;S (1Fa7y bRiS) 18 18] 310
ARy (1FO7v U E) 1= 1[5] 400
9t/ EVARY AR 18 1[5] 2,880
MIPS>7TEVRRY S A k- 1& 1[5] 690
70192 —ARYESA b 1& 1[=] 460
TARIRY YV (RFEVREAT 7TV MNZ— & 1[=] 690

1H13E)
ANV YV (EEVBEITIMNZ— 1a 1[5] 690

= 1H4FE)
BREAE R | RSAFFv)7 REVMET7IMR— 18 1[=] 500

1HFE)
TA1IVLRYV 1& 1[5] 690
RS LIV & 1[=] 690
B & 1[=] 690
IT7x7MINZ—> 1 1[g] 120
=5—R—Ib 1= 1[5] 690
KEFTVIMUR) 118 1] 120
FREARAZ VK 1K 1E] 120
FREERHA SR ERE TKW 13 100
T7vTSAET/ 1= 1[5] 1,000
BTRARARYESAEGEINSD -3HA5) 18 13 50
FLE(ETATYvFFE) 1& 1[5] 1,000
Zom | BEBRARY)—V (REER) 1% 13 300
LEEE E123E) 15 13 1,150
TAVYLRT VT (RA7141) (RFZER) 15 13 500
EBREFERY 5FAZE 18 1[8] 100

1. ZORICEZDF ARSI Fai - FERURREILS T2 ZThZThofIBZZhZh1EELTRHEL
i-a-o

2. Efm - BRI EFARBICSENT T, EZ RO ZEIERMT. BE LOEMRE BRI MREA
FEDEABERLTIIEELY,



